1. track

—E3.4% 500 Sralfdi STOP

SO0/ Snalfd STOP 1 15.00Y

—2.387 S00gs

Snglfi STOP 1 15.00V L 5.428

1 15.00%

Wawg(lr=14.682 ¥V

TmsC12=17.68 ¥

Vp—pl D=23.28 ¥

Wawg(1)=14.75 ¥

N : :
rmsC13=18.73 ¥

Kod1 +

2. track

Vp—pL1)=23.75 ¥

2.36%

Waweg(l1a=15.98 ¥

Ciml

S00E/

TMsC12=17.55 ¥

Kod2

Vp—p( 1D=23.28 ¥

+

—S.487

Ciml

S00E”

Kod2

Snglfl STOP 1 15.00%

+

[ E2.5%2

Adatl

SO0 Snalf1 STOP

1 15.00Y

Snalfl STOP

1 05,00V

Waugrll=14.67 ¥

TMSL12=17 .65 ¥

Vp—pl 1D=23.28 ¥

Wawg(l1l)=14.80 ¥

N : :
TMESC1)=18.63 ¥

Kod1l +

Vp-pL1)=23.59 ¥

Vawg(l1a=15.87 v

Cim2

TMSC12=17.58 V

VPl 1D=23.75 ¥

Kod2 +

Cim2

Kod2

+

Adat2



